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FRATDINYr—

HlzlC ggfixest N\ T —I%ZFHT %,

library(tidyverse)

## — Attaching core tidyverse packages
1.

## v dplyr 1.
## v forcats 1.
## v ggplot2 3.
## v lubridate 1.
## v purrr 1.

## — Conflicts

0.0
5.1
9.3
0.2

4

v readr 2.
v stringr 1.
v tibble 3.
v tidyr 1.

w N 0 R

= = = O

## % dplyr::filter() masks stats::filter()

## % dplyr::lag()

masks stats::lag()

tidyverse 2.0.0 —

tidyverse_conflicts() —

## i Use the conflicted package (<http://conflicted.r-lib.org/>) to force all conflicts to become errors

library(fixest)

library(ggfixest)
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:7---

T Dz drid >

e fixest/\wo —IDbase did T—F%=FBIT 3, ERLLT—7F)
HHIECBE5

data("base_did")

o

head (base_did)

##
##
##
##
##
##
##

O b WNR

w okrN

y

.87530627
. 86065272
.09416524
. 78147485
.55819959
. 712873240

.5365377 1 1 0 1
.0431894 1 2 0 1
.5768439 1 3 0 1
.8300587 1 4 0 1
.0443544 1 5 0 1
.6363849 1 6 1 1

x1 id period post treat
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https://lrberge.github.io/fixest/reference/base_did.html

EH—E

name description

y WA Y

X1 AR (A TIREFIALEW)

id (EYNQE:#11I;

period Time period (1-10)

post ALEDAftery = —, GHIEUE1 ZHLS,
treat NU—KAXVKNITIL—TFDTI—,
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471 : 2*2 ODID

e EEETIL ! yir =

. Bo + B1Post; + BaT'reat; + vI'reat; x Post; + €;

result_base <- feols( y ~ post + treat + postxtreat | 0 ,

cluster = "id", data = base_did)

etable(result_base)

##
##
##
##
##
##
##
##
##
##
##
##
##
##

result_base
Dependent Var.: y
Constant 0.3228 (0.3233)
post 0.7135% (0.3483)
treat 0.1423 (0.4411)
post x treat 4.993*x*xx (0.5197)
S.E.: Clustered by: 1id
Observations 1,080
R2 0.18284
Adj. R2 0.18057
Signif. codes: 0 'x*x' 0.001 'xx' 0.01 'x' 0.05 '.

'"0.1 "

1
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2 ZAREEMNRETIV

—\V

« MEETI : yir = YT'reat; x Post; + 0; + 0; + €5

result_TWFE <- feols( y ~ postxtreat | id + period ,
cluster = "id", data = base_did)

## The variables 'post' and 'treat' have been removed because of collinearity (see $collin.var).
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1 2 DFER

etable(result_TWFE)

##
##
##
##
##
##
##
##
##
##
##
##
##
##

result_TWFE
Dependent Var.: y
post x treat 4.,993%*xx (0.5214)

Fixed-Effects: ----—-——"—————-———-

id Yes
period Yes
S.E.: Clustered by: 1id
Observations 1,080
R2 0.30675
Within R2 0.06460
Signif. codes: 0 '"x*x' 0.001 'xx' 0.01 'x' 0.05 '.

0.1

1
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D3 : AIRNVENAYT 1

« WRETIL  Yir = gy DY + 0i 4 0: + €t
o ALEIFCHABICRELTWVWADT, ZO—DHI{I=5)ZEE (v, = 0)9 %,

result_ES <- feols( y ~ i(period, treat, ref = 5) | id + period ,
cluster = "4id", data = base_did)
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2 3 DIER

etable(result_ES)

##
##
##
##
##
##
##
##
##
##
##
##
##
##
##
##
##
##
##
#H#

Dependent Var.:

treat x period
treat x period
treat x period
treat x period
treat x period
treat x period
treat x period
treat x period
treat x period

Fixed-Effects:
id

O 00N~ WNR

result_ES

-2.015
-1.664
0.5041
-0.8846
1.159
4,335%%
3.826%

4.,640% %%

10 6.947x*xx%

y

(1.342)
(1.389)
(1.323)
(1.416)
(1.227)
(1.308)
(1.514)
(1.293)
(1.426)

S.E.: Clustered
Observations

R2

Within R2

1,080
0.32343
0.08710
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AN ENRAYTFoD7AOY S (FD1)

e fixest/\wo —IDiplotBi#K

figl <- diplot(result_ES)

Effectony

10

Estimate and 95% Conf. Int,
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AR NRIT«4D70Y b~ (£D2)

o ggfixest I\ —I%ZES &, ggplot R—XADARY NRY T4 K=ZENns,

fig2 <- ggiplot(

result_ES, main = 'Event Study Example') +
labs(y = 'Effect (point estimate and 95% confidence interval', x = 'Period')+
theme_bw()
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plot(fig2)

Event Study Example
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HFlT : fixest TDStaggered DID

e Sun and Abraham (2021) Q#ETE A EN fixestiCEWTEEINTWS,

o FMlFIE 5,
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https://cran.r-project.org/web/packages/fixest/vignettes/fixest_walkthrough.html#423_Staggered_difference-in-differences_(Sun_and_Abraham,_2020

